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ENGLISH PAPER -1
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ANSWER ALL QUESTIONS

Analysis Skills

Read the following passage and answer the questions :

Duration wanted to know exactly what tells as insect eating plant like the common
sundew to close its leaves when a fly settles on it. So he was going through the possible
causes methodically one by one. Noise was not a likely cause ; but it might just have
worked and Darwin is not the man to rule out anything. He had tried sand and water
and bits of hard-boiled eggs, and now he was trying Frank’s bassoon. Darwin never did
get to the bottom of what makes the sundew close.

(1) What did Darwin want to know?

(1) Who were at war with Napoleon?

(111) Who 1s the writer of the above passage?
(iv) What are people afraid of?

(v)  Who have caused the miracles?
Read the passage and answer by choosing the right answer :

The old man lifted his head slowly. When he saw the silver he would not put out his
hand. He said, “Sir, I did not beg of you. Sir we have good land and we have never been
starving like this before, having such good land. But this year the river rose and men
starve even on good land at such times. Sir, we have no seed left even. We have eaten
our seed. I told them, we cannot eat the seed, but they were young and hungry and they
at it.

(1) The old man lifted his head slowly as
(1) he was having a pain in his head
(2) was frightened
(3) could not decide what to do

(4) none of these
(1) He would not put out his hand because
(1) he did not ask for the silver
(2) he wanted seed
(3) he was a man of self respect
(4) he wanted only food

(i111) They had never starved earlier as
(1) they were very rich
(2) they had good food



2. (a)

(b)

(©)

(d)

(e)

(3) they had never had such floods
(4) they always had good seed

(iv) Their seed was exhausted because of
(1) floods
(2) migration
(3) extreme poverty

(4) consumption

(v) The statement, we have no seed left, even reveals
(1) a sense of deep disgust
(2) a sense of auger
(3) afeeling of utter helplessness

(4) a state of divine bliss

Correct the following sentences :

(1)  One of my books are missing.

(i1) Neither Shakespeare nor Milton belong to Greece.
(1i1) Most of the students has voted for Manu.

(iv) Each of the books written by him are very interesting.
(v)  No one have contributed to the flood - relief fund.

Rewrite as directed :

(1) Close the door. (Change the voice)

(1) He has written. (Add a question tag)

(111) Madras is one of the most populous cities in India. (Change to comparative)
(iv) The teacher said, “complete your work students”. Change to Indirect.

(v)  Being tired, he fell asleep. (Change to compound)

Change into direct speech :
(1) He told me that I alone, could save her.

(1) He said the seen rises in the East.

Fill in the blanks with correct verb forms in the bracket :

(i) I————to Delhirecently. (go)

(i1)) I————— the rent last week. (pay)

(111) John ————— to church every Sunday. (go)

(iv) He will buy the dress that ——————— the cheapest. (be)
(v) They —————— (live) here for ten years.

Fill in the blanks with suitable words given at the bottom :
i) I——you.
(1) Who opened the ——?
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(h)

(i11) He has married her for
(iv) Centuries ago Romeo ————— in love, with Juliet.
(v) Try to save a part of your
(1) fell (2) believe (3) salary (4) door (5) wealth
Rewrite the jumbled sentences into coherent passage :
(1) This contains the electronic components called microchips.
(1) Many components have now computerised their accounting files.
(i111) The part of the computer that processes the data is called CPU.
(iv) Computers can do the work more quickly and accurately than people.
(v) The work that a computer does is called data processing.

Write three exchanges between a teacher and student who wants an extension of time
to submit the assignment.

Write a paragraph using the hints :

Pollution — air pollution — sound pollution — water pollution etc. Health destroyed — life
span is cut ———— steps to curb pollution — government — people’s co-operation.

Write in about 100 words on the following
(1) Uses of Technology

(1) Importance of English

(111) Cell phones
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(Descriptive Skills)

. Write an essay

(a) How did the lovers come together ultimately?
(b) Write a note on Dasa, the servant.

(¢) Narrate the Mystery of the Cufflinks.

. Write short notes

(a) How does the poet compare the express to a queen?

(b) How is Milton’s faith in God reaffirmed?

(¢)  Give the central idea of “Laugh and Be Merry’.

(d) How does the poet describe modern culture through a piano?

(e) Describe Gieve Patel’s description of killing a tree.

. Write an essay

(a) Bring out the truth in Tolstoy’s story.
(b) Narrate the story of the Refugees.
(c) Bring out the irony in “The Open Window”.

(a) Explain the following
(1) I have learnt from experience that I am not wise enough to advise others.
(11) The moment you see it again, send for me.

(i111) That 1s why I have attacked the magic before the fear : because the marvel lies
below the fear.

(b) Explain the follwong
(1) How small a part of time they share.
That are so wondrous sweet and fair !
(1) She has a world of ready wealth,

Our minds and hearts to bless —
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(b)
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TINAS TSI AU |
Describe the rule of Dasaratha.

fagter sfamfeart afveaaemnty foea

Explain the features of a scholar told by Vidura.
T TE Sfedt i forgare auiEa|

What did the maid of Parvati say to the bachelor?
TSI N, Jvad |

Describe six season’s according to the lesson.
TSTaTEehd Tgstiaehia forread |

How did Rajavahana help to the brahmin?
Harssiter A9 TR fored |

Narrate the story named Jarssiiad]

Answer the following with reference to context.

e SIrEaTd|

(a)
(b)
(c)
(d)
(e)
®
(g
(h)

EEPINICRSELIH
ety 3 dad|
SRR W e |
afa | AWsgs JogEns: |
Tk SRRl AT |
3d qE f2 T9M: |d @
Hafed T3 AYEERITG: |
HARIHHTICH forerd |

5. Translate ipto English or Telugu.
ST-IHNRT d1 ATGAHNET IT1 A dTed |

(a)

(b)

(¢

(d)

Td TR ARITE gHeiAr: gEedT: |
3fea: Sfictaaren v game: ||
Frvera gererfs et 7 ged)
I : HEEH Tad ufveaareroy | |
g fagen 3 <gifa daar 7 Tl
YRl 7 AHd GG aeH|

e o WENHagRIY|

T Tdd WY &=
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1. (a)

(b)

(¢

(d)

First Year

SANSKRIT PAPER — I (NR)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Write the forms in the other numbers of given persons :

TAgHNY argEanr forad |

i) (i) U=
(1) ¥Tq (iv) AHIIG
(v) HdH (vi) Ya™
Decline as per the case ending.
qafgafey segEaTor forea|

(i) < (i) fo
(i) T2 (iv) Y
(v) R (vi) e,

(vii) TR :(viii) YA
Combine Sandhi’s.
e |

() fog + = (i) @& + BN
(iii) @@ + Vg (iv) B + 3

(v) g+ T (vi) T:+ oA
(vil) o + 34 : (viii) fagm + ferafa
Dissolve

fomrgamerR foraal

()  TEFwl (i) wmEg:

(iii) freTOm (v) o™

(v) Frysm (vi) FEhad

(vii) geSeaTy: (viii) &
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HINDI PAPER — I (NR)
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ANSWER ALL QUESTIONS

1. Torgl it Tmeyl Tfgq =amen $ifs)
(a) hfaar & forre ot Sueht dimn ufiftrg 2 S @ @nfges W ard stmenq 2ar 2
(b) ST 1 HH TAMT & TR, TeH UgA g8 IH! bl JAT 8, o BT H I I gl =l

(c) & W WA HTfecd sl Thdl sl =<l hid & o gHNT TR ARaas i fie-fie et
<1 Hifefcies gaEdr @ gran 8

(d) RIS =1 TEATh TR oi@eh off &1,
Ik % fore ifafor A smrare aHed & Hew @ wm g & A

(e) HR-WT & 1 ford 3MeR W @ T ?

2. Tt ure =1 gy fomiwarett afgq fafaw)
(a) arfafer
(b) Hfa I Hia)

3. Toreht Ut =1 wriw fomiwarett afegq ferfau)
(a) w1 : QT WA G
(b) “Hictha” U138 ¥ Y 1 Tew fireran 7

4. foreh gt w1 g faivarst afgq fafa)
(a) T&RRI
(b) BT BT FAT
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1. (a) &= srees it ARl & foTu gamTe™ % AW W) u fafau)
(b) 3Tk Yeg <hl Tiett & fowar & i & srferart 1w fafaw
2. Tl a9t o1 Stare g@ ufwat § fafau)
(a) < i Zre’ HEHl 1 IeTT FAT 87
(b) “cTeATER” w1 =tE fE Fifsu)
(c) “sreur =1 =i famror Fifs)
(d) ‘it =1 atE e i)
3. |ft gl w1 I faen sifrer )
(2) ‘W Hidaar frgd 2| (“form” sgae ffau))
(b) gl S AT H HEF &1 (I S fArag|)
() “3E W WE”| (dr=a gt faiau)
(d) “T TS e 7| (W #§ wgfr)
(e) “Hew gigdl § wwas SR (IWH e H FEferw)
(H B & T (area agae fafan)
(5) U AT HH HINT| (Yg HIT))
(h) TR < A T oo (gg i)
() o o SR (adue wre | aefe))
(G)  (Collector) 3 reg w1 279 fe=dt ¥ faifau)
4. Tordi wisdi e Tt 9§ formamt it # weii fifsu)
(a) B
(b) M
(c) e
(d) 9" H|
(e) Tormal
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ASSIGNMENT-1
B.A./B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025

First Year
MATHEMATICS PAPER —1

(DIF.EQU., ABS. ALG. AND VEC. CALCULUS)
(Common for B.A./B.Sc.)

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Solve (x2 —2xy — yQ)dx —(x + y)2 dy=0.

(xQ —2xy — yQ)dx —(x+yFdy=0 20 Bo%0&.

2. Solve p?-Tp+10=0

p:-Tp+10=0 30 3 Bodo&.

3. Solve (DZ -5D+ G)y =e*
(D?—5D+6)y =" 20 80308,

4. Solve (DZ +4)y =xsinx
(D2 +4)y =xsinx 0 >BoI0E.

5. Prove that, in a group G, identity element is unique.

DHOTETH0 G S° HBIN0 Horr0EDD IFEDD VETD0BoE.

6. If His any subgroup of a group G, then show that HH = H .
VBTN G BwE); b@_a" &D0D00°TrO0 H @008 HH = H 99 HI°H0&.

7. Find div F where F = grad(x3 +y +28 - 3xyz).

F = grad(x3 +y +28 - 3xyz) @0d P div F 20 S’bogebo&.

8. If F =x%zi —2y°2%j + xy’2k then find curlF at (1,—1,1).

F =x%2i —2y°2%] + xy’zk eond (1,-1,1) 5 curl F %o §éo§sboc%.



1. (a)

2. (a)

3. (a)

(b)

(b)

(i)

(@)

(i)

(i)

@)

(i)

(DBMAT11/DSMAT11)

ASSIGNMENT-2

B.A./B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
First Year
MATHEMATICS PAPER -1

(DIF.EQU., ABS. ALG. AND VEC. CALCULUS)
(Common for B.A./B.Sc.)

MAXIMUM MARKS :30

ANSWER ALL QUESTIONS
dx dy dz
Solve 7 = F = W .
ax _dy__ 4z o, 580508,

y2 x2 x2y222

dy
Solve (x?‘ +1)E +4xy = EER

dy 1
x2+1)~= +4xy = 30 DBoHoS.
( )dx Y x?+1 ®

Solve y =2xp +x2p*.
y=2xp+x°p* D0 FGodod.

Solve (py + x)(px - y) =2p.

(py +x)(px —y)=2p 20 >Bovod.

Solve (D2 —4D+ 4)y =x3.

(D? — 4D+ 4)y = x* 5> >BoBod.

Solve (D2 - 2D)y =e*sinx .

(D?~2D)y = e sinx %> >GoBod.

Solve (D? +a?)y = tanax by the method of variation of parameters.

OBV 53°8Y) D BB R0D (D* +a®)y =tanax 50 »BoBos.

Solve (x2D? —xD +1)y =log x .
(x2D? —xD +1)y =logx %0 B0H0E.

Prove that the set Z of all integers form an abelian group with respect to the

operation defined by a*b=a+b+z forall a, b € Z.

2 (DBMAT11/DSMAT11)



4. (a)

(b)

(b)

(i)

@)

(i)

(i)

@)

(i)

VACION ‘Qj"(g;oé PN, oSoJKé B8 a*b=a+b+z, a,beZ DELD0DIYPE 7
28 DDHDI03) DBITPTPHN ©9:)BO0ED BT D0D06.
If H is a subgroup of a group G, then prove that H ' = H .

RDITTH0 G BWE); SDIDITTI H @on®d H'=H 9 d85700d08.

State and prove Cayley’s theorem.

Bowd VTToTR) [ MBI AETDOVOE.

Prove that the subgroup H of a group G is normal if and only if xHx ' = HVx eG.

DT G S &N H  e99008) DH0TPrn S8 D85S DHo°5R)
D030%00 Vx € G & xHx ™' = H 99 353908,
C_lXF . C_l i(_'_)

7‘3 7‘3 r

If @ 1s a constant vector, then prove that curl

AXT __ GG F) e dr00d.
r

a 2.8 ?(36 VA% ©od, curl

If a=x+y+z, b=x?+y>+2%, C=xy+yz+zx then  prove that
[grad @, grad b, grad E] =0.

G=x+y+2z, b=x>+y>+2%, C=xy+y2+2X €00 [grada,gradb_,gradE]=0
e HDIPV0G.

State and prove “Gauss’s Divergence theorem”.

o @908 DEToER) @R DEID0B0G.

Evaluate &(3x +4y)dx + (2x - 3y)dy, where C is the circle x* + y*> =4 .

c

C 30 5)B50 x” +y” =4 ©ond i§(3x +4y)dx + (2x — 3y)dy %0 Ke3ovod.
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(DSPHY11)
ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
First Year
PHYSICS I - MECHANICS WAVES AND OSCILLATIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. What are scalar and vector fields? State and prove Green’s theorem.

8% D8I VEE BH0eD @D I (R Dz 0T BOD W00erR) DOVH.

2. Explain about scattering cross section and Rutherford’s scattering.
98I boc}sélﬁl)cﬁo“)oo 0B S3edG $882es Z)oc}sélﬁl)cﬁbooe)éo 9HB80HDIBN.

3. Describe the Gyroscope and its principle.
(#5083 3B H5Z 0D, TD APBDND DHB0WIH.

4. State and explain Kepler’s laws of planetary motion.

395 (HT® M50 Wor@red0 B3I, DHBoWIDM.

5. Derive differential equation for a simple Harmonic oscillator and find its solution.
DY Eod B0E); VDL ?’oﬁ)os’dss":o& G"&)éé o0 BaE); DB BDND EHIRNTDOD0.

6. Derive an expression for the speed of propagation of a transverse wave on a stretched string.
BV BoEIOS® BYE HEON DADNIE DITVHD0 To2eRHD.

7. Explain Amplitude resonance and velocity resonance.
E0DD DB e900T°E5530 D803 DK 90T HBNON DHBOWVIDN.

8. What is Piezo electric effect? Explain the production of ultrasonics by using this method.
9D 8)63355 DOBHD D D2 Se ‘Qg@ (AN LTAININ %é“)eg DA ITEBN (°O300N.
9.  Explain the divergence of a vector field and its significance.
RVEB 9DV D0BOI Tl @vo“)ooaaéééo DHBORNOIND.
10. Obtain the equation of motion for a rotating body.
(859083 5P HAE DAEB I (ORAINVEVNE
11. What are central forces? Give examples.
BB 2ODNOBT I0? GTPTSEdDNY.

12. Explain the length contraction.
285 DoE%HdW K8y DHBoYH.
Q.Q))



(DSPHY11)
ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025

First Year

PHYSICS I-MECHANICS WAVES AND OSCILLATIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Write a short note on Lissajous figures.

D DB°® (80D DOEIOMN® [FPASH.

2. Write a brief note on relaxation time and quality factor.

DE°OH 5°HL DB Ko gresste B0 WodHomr HHBoYIw.

3. Explain the modes of vibrations of a stretched string clamped at the both ends.

B0 VT PR éoéol AKX €0DD Broody 9980505%.

4. What are ultrasonics? Write any two methods to detect ultrasonic waves.

BB FGOIMTR? Y HFHIOD 180D B0t T K HBY0BWIBW.

5. Prove that curl of a gradient is zero.

(D983 Bo0E); 58 BTV DEIZDOBODN.

6. The fuel burnt at a rate of 0.02 kg/sec. Exhaust velocity of gases 10,000 m/s. Find the thrust
acting on the rocket.
28 09885 TP A0 ROEHHBND0 0.02 kg/sec Bend 0D DOINWO TPASVDN0 S
D208, 085 ADFOM WIrEH TPAWDVO D0 10,000 m/s 00D 078 & DD Do

EH0NRD0d0.
7. If the earth is at one half of its present distance from sun, what will be the number of days in
one year?

[Ny D00 s &x) Srdo, aYBE &) Srdo Eo& dreds éﬁé DOIBYTEDE 868’62)&

&0eIP0N?

8. Calculate the expected fringe shift in the Michelson Morely experiment, if the distance of each
path is 2 km and the wave length of light used is 6000 A°. The velocity of earth round the sun = 3
x 10* ms1.

2 (DSPHY11)



ESIS - 5B (IBTH0S” 88ed D DY 2873 D 8.00 5208 BN GYgd0 6000 A°.
[SULCTIERARIAUIEAL LN DAHD =3 x 104 ms! @00 b%gs‘ g)ac;‘&)éboo JoH?
9. A particle executes simple Harmonic motion with a period of 0.002 sec and amplitude 10 cms.
Find its acceleration when it is at a distance of 4 cms from its mean position.
2.8 ¥ead00 00 0.0 E09% HBAED) 0.002 EX E'ore HYH 500800 Y TooEys Kodd
DASNVBONB. T e @cgéo“)oo 2008 8 0.8 Srsoss’ G QP T BEEIDN OB ?

10. The amplitude of an oscillator of frequency 200 Hz falls to 1/10 of its initial value after 1000
vibration. Calculate relaxation time.

200 Hz 2r38adg0 o 8¥ ZPG"éég &oss0 BNE); EOID HBS 0000 Eodaren DD
BT TR 09D DB 0/00 5 H0BK BR0B. & JF0 sPer) BE) 006,

11. A string of length 8 m fixed at both ends has a tension of 49 N and a mass of 0.04 kg. Find the
speed of transverse wave in the string.

0.04 kg ($550°8, 8 m e Ko SKH Botk PYe® DR0T. BASW BI5m> we0 49 N. & S
(Dasre3od @655 HEoK DXI0H?
12. A piezoelectric crystal has thickness 3 mm. If the velocity of sound waves in crystal is

5750 m/sec. Calculate the fundamental frequency of crystal.

3 mm H00e5B0 Ko DED DS e3¥S® eBYY ey $590 BN 5750 m/sec BESL Bk),
VIres P3PS0 Do B 0906

3 (DSPHY11)



(DSCSC11)
ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
First Year
COMPUTER SCIENCE — I (PC SOFTWARE AND PROGRAMMING IN C)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Write about different types of computers.
D S570 EoPrgead Ho8od o°030085.

2. Define Word-Processing. Explain the features of Word Processing.
HB - @ 0R) DEFI0H0&. BT @ RVOR HHYHo DHBoB0E.

3. Explain how to create various charts in MS-Excel.
MS-Excel &° 9948 g 50 de 05" 9980906,

4. Explain different types of operators available in C.
C &° @oterend’ &) 996 8570 39BN 9H80H0s.

5. What is a structure? Explain how to create array of structures.
Structure 9083 Ae3? Array of structures der

‘be)zsxoa"éﬁ 9H5B0B0&.
6. Differentiate between RAM and ROM.
RAM 508053 ROM 505 BE0 (080906,
7. Explain different types Operating System.
I Esee e3HBES0oR ?o‘gbgbo 9580508.
8. Write the procedure to create Slide Master.
Slide Master 9 Q)E,lo;s TR T°A0G.
9. Explain different data types in MS-Access.
MS-055"8)R8 DD TGer 5000 9HBoH0E.
10. Explain break and continue statements with example.

G888’ break 08030 continue (DELDO[0 9HB0V0E.

11. What are bitwise operators? Explain with examples.
D0 368 008 3?2 GTPrEEes’ 95800k,
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1. Write any two advantages of computer.

E0PRgeod BE); AP T° B0k (HBI BT 00 T°A500G.
2. Write steps to create a File.

29 fog)?é)lobcz”bg BBo0 oPa%08k.
3. What is Slide sorting?

RoN& FGof @0Es Ie3?

4. What 1s the use of find and replace
MS-WORD?

MS-WORD ¢ find 50805 replace o BE); &ABI°N0 A3 ?
5. Define a Query.
Query &0 985D0H0GE.
6. What is Work Sheet?
H8); 5385 @085 He3?
7. Write a syntax for while-loop.
While-loop §%50 TPERTRETR) TPO00E.
8. What is an array?
Array €085 d0e3?
9. What is the use of printf() function?
Printf() 0¥ Baok); &IBIK0 DD0e3?
10. What is a pointer?
Pointer ©0&5 d0e3?
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